
Government of India
Ministry of Defence

Ordnance Factory Board
10A, S.K. Bose Road

Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s ELMECH ENTERPRISE, 352/1, G.T.ROAD (SOUTH) HOWRAH WEST BENGAL is registered at Ordnance
Factory Board for following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Gun Carriage Factory All type of Pressed and Machined Components

Description : All type of Pressed and Machined

Components [ENR Registration]

20-04-2019

2 All Types of Fasteners, Rivets, Nuts & Bolts

Description : All Types of Fasteners, Rivets, Nuts &

Bolts [ENR Registration]

20-04-2019

3 SPECIALCYLINDERICAL PINS Description :

SPECIALCYLINDERICAL PINS [ENR Registration]

20-04-2019

4 Gun and Shell Factory screw n2 29 10x35 Description : screw n2 29 10x35

[ENR Registration]

30-04-2019

5 SPLIT PIN IQX 94 Description : SPLIT PIN IQX 94

[ENR Registration]

30-04-2019

6 SPLIT PIN IN FC FD 620 PT QX252 Description :

SPLIT PIN IN FC FD 620 PT QX252 [ENR

Registration]

30-04-2019

7 WASHER ARDE KHS 120043 Description : WASHER

ARDE KHS 120043 [ENR Registration]

30-04-2019

8 CAP KHS 120034 Description : CAP KHS 120034

[ENR Registration]

30-04-2019

9 CAP KHS 120037 Description : CAP KHS 120037

[ENR Registration]

30-04-2019

10 WASHER OTF DD 012 Description : WASHER OTF

DD 012 [ENR Registration]

30-04-2019

Page 1/4



11 CAP DET NO 4 IN FC TO SK NO OTF SE 008

Description : CAP DET NO 4 IN FC TO SK NO OTF

SE 008 [ENR Registration]

30-04-2019

12 BOTTOM SCREW 6171222 Description : BOTTOM

SCREW 6171222 [ENR Registration]

30-04-2019

13 WASHER IQX 752 Description : WASHER IQX 752

[ENR Registration]

30-04-2019

14 PIN SAFETY INTERLOCKING IQX 312 Description :

PIN SAFETY INTERLOCKING IQX 312 [ENR

Registration]

30-04-2019

15 GASKET 6W 8 685 072 TF 008 Description :

GASKET 6W 8 685 072 TF 008 [ENR Registration]

30-04-2019

16 CAP II 1 TO DRG NO CQA A AMN 2860 Description :

CAP II 1 TO DRG NO CQA A AMN 2860 [ENR

Registration]

30-04-2019

17 DELAY TRAIN TO DRG NO NAI J 501 8 3 IN F C

Description : DELAY TRAIN TO DRG NO NAI J 501 8

3 IN F C [ENR Registration]

30-04-2019

18 GASKET PAPER DRG NO NAI J 501 7 IN FINISH

CONDITION Description : GASKET PAPER DRG NO

NAI J 501 7 IN FINISH CONDITION [ENR

Registration]

30-04-2019

19 RING TO DRG NO 6W 8 685 029 SK NO TF 027

Description : RING TO DRG NO 6W 8 685 029 SK

NO TF 027 [ENR Registration]

30-04-2019

20 CAP 501 15 Description : CAP 501 15 [ENR

Registration]

30-04-2019

21 LITTLE CUP TO DRG NO NAI J 501 8 7 IN F C

Description : LITTLE CUP TO DRG NO NAI J 501 8 7

IN F C [ENR Registration]

30-04-2019

22 DELAY TRAIN 6W 8 635 111 Description : DELAY

TRAIN 6W 8 635 111 [ENR Registration]

30-04-2019

23 WASHER PVC NAI J 501 3 Description : WASHER

PVC NAI J 501 3 [ENR Registration]

30-04-2019

24 WASHER 6W 9 440 047 Description : WASHER 6W

9 440 047 [ENR Registration]

30-04-2019

25 CAP II I TO DRG NO NAI J 501 10 1 Description :

CAP II I TO DRG NO NAI J 501 10 1 [ENR

Registration]

30-04-2019

Page 2/4



26 SCREW SET 5305 007372 Description : SCREW

SET 5305 007372 [ENR Registration]

30-04-2019

27 NUT PLAIN KNURLED TO DS CAT NO 5310 0059

Description : NUT PLAIN KNURLED TO DS CAT NO

5310 0059 [ENR Registration]

30-04-2019

28 PIN STRAIGHT HEADED 5315 00 Description : PIN

STRAIGHT HEADED 5315 00 [ENR Registration]

30-04-2019

29 PIN DOWELL TO DS CAT NO 5315 005377 FC

Description : PIN DOWELL TO DS CAT NO 5315

005377 FC [ENR Registration]

30-04-2019

30 SLOTTED CHEESE HEAD SCREW M 4X12 TO DS

CAT NO IS1366 P88 Description : SLOTTED

CHEESE HEAD SCREW M 4X12 TO DS CAT NO

IS1366 P88 [ENR Registration]

30-04-2019

31 HEX NUT MX4 P IS 2389 Description : HEX NUT

MX4 P IS 2389 [ENR Registration]

30-04-2019

32 HEX NUT M6 IS 1364 Description : HEX NUT M6 IS

1364 [ENR Registration]

30-04-2019

33 SPRING WASHER M4 TYPE B Description : SPRING

WASHER M4 TYPE B [ENR Registration]

30-04-2019

34 SPRING WASHER M6 TYPE B IS 3063 F C

Description : SPRING WASHER M6 TYPE B IS 3063

F C [ENR Registration]

30-04-2019

35 SCREW RANGE SCALE M 1420 302222 Description

: SCREW RANGE SCALE M 1420 302222 [ENR

Registration]

30-04-2019

36 ASSY TUBE PLASTIC GF 187957 Description :

ASSY TUBE PLASTIC GF 187957 [ENR Registration]

30-04-2019

37 BOTTOM TO DRG NO 765 65 525 Description :

BOTTOM TO DRG NO 765 65 525 [ENR

Registration]

30-04-2019

38 RIVET CSK HEAD M 9016 Description : RIVET CSK

HEAD M 9016 [ENR Registration]

30-04-2019

39 CSK HEAD RIVET M 9016 Description : CSK HEAD

RIVET M 9016 [ENR Registration]

30-04-2019

40 CLAMP 765 65 410 Description : CLAMP 765 65 410

[ENR Registration]

30-04-2019

Page 3/4



41 STUD AXIS TRIGGER SEAR DRG NO 1025 12

Description : STUD AXIS TRIGGER SEAR DRG NO

1025 12 [ENR Registration]

30-04-2019

42 Rifle Factory Ishapur Pin Catch Magazine for 9mm Auto Pistol Description :

Pin Catch Magazine for 9mm Auto Pistol [ENR

Registration]

17-06-2019

43 Ordnance Factory Bolangir WASHER FOR FUZE DA 5A Description : WASHER

FOR FUZE DA 5A [ENR Registration]

30-07-2019

 

Registration No. : AFNPP8106Q

Initial Date of Registration : 20-04-2019

Downloaded at : 27/04/2025 07:20 pm

 

Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

 

 

Powered by TCPDF (www.tcpdf.org)

Page 4/4

http://www.tcpdf.org

